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PART A: Grammar and Vocabulary

ml;gﬂjm%‘p Choose the word or phrase (1), (2), (3), or (4) that hest completes each sentence. Then mark the correct cholce on ym:J
answer sheet,

61-A: “Do you think she ... into books? Tomorrow is her birthday and I’ve bought her some classic
novels!”

B: “She ... very happy when she finds out. She is a bookworm!”

1) will be - be 2)is-is 3)is - will be 4) will be - is
62-1'm sorry I made you so angry. I ... it again.

1) do 2) won’t do 3) didn’t do 4) does
63-10s really cold in here. ... the window, please?

1) Do you will close 2) Do you close

3) Will you close 4) Are you closing

64- Employces who are hard-working and ... are those who are always ready to go to work every
morning, enjoy their work and try hard to do their obligations properly.
1) dedicated 2) respected 3) interesting 4) creative
65-Children often ... at one another hecause they do not have the communication skills to solve
disagreements appropriatcly.
1) look 2) add 3) shout 4) start
66- The students were extremely under ... to obey the school rules not to wear jeans, or they couldn’t

attend the classes.

1) donate 2) pressure 3) care 4) strength

PART B: Cloze Test

Dircctiony: Read the following passage and declde which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on
your answer sheet.

Wihen the brain analyzes new information, it compares it with what it has learned. The process
forms new connections or new pathways in the brain, To make the best use of your brain cells, here
are some tips on ...(67)... of your command center. Eat a ...(G8)..., well-balanced dict based on the
Food Guide Pyramid. A recent study on English girls found that dieting lowered their 1Qs. The
teens ...(69)... cnough fron-rich foods. Reading a lot today can improve your memory as you
+++(70)... . Find Interesting hobbles, join school and community clubs, and reach out to people and
places. Stress, depression, anger, and anxicty can harm your brain. Cut back on TV so that your
brain won't become a “couch potato.” 8 to 10 hours sleep every night is needed to ...(71)... your
brain functions,
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67-1) helping 2) knowing 3) lnking care 4) lenrning
68- 1) nceded to 2) interesting 3) repealedly 4) healihy
69- 1) did not get 2) will not get 3) gol 4) will get
70- 1) get better 2) sound right 3) grow older 4) feel happy
71-1) found 2) boosl 3) inspire 4) hecome

PART C: Reading Comprehension
Directions: Read the following passages and nnywer the questions by choosing the best cholee (1), (2), (3), or (4). Then mark the
correct choice on your answer sheel.

Passage 1

Many wild and domestic animals are living in South Africa. In many party of South Africa,
people do not hunt or hurt animals. Instead, they sre fricnds with animals, When people hecome
friends with the nature, lots of animals will continue to live, and they won’t be endangered. South
Africa is not similar to European or Asian countries where people kill animals and destroy their
natural home. When a person in South Africa sces an injured animal, hic or she calls other humans
to come and help the animal, In this way, the lives of many animals will be saved.

South African people always tell the tourists to pay attention to the life and health of animals.
They say that tourists sometimes make the animals angry by going near them or sick by giving them
food. Some tourists even want to take photos with animals! South Africans think they should always
protect the animals and let them live a better life in their natural home.

72- The passage is mainly about ....

1) tourism in South Africa

2) endangered animals in South Africa

3) South Africans’ help to the wildlife

4) animals in Asia, Europe and South Africa
73- Which one is WRONG according to the passage?

1) South Africans want to make animals live a better life in the nature.

2) People do not hunt animals in a few parts of South Africa.

3) Tourists sometimes make animals angry or sick.

4) South African people are not similar to European and Asian people.
74- The word “protect” in the second paragraph means ...,

1) pay attention to 2) excuse 3) take care of 4) hear
75- According to the passage, ... .

1) injured animals in Asia are saved by South African people

2) killing animals and destroying their natural home only happens in Asia

3) there are more wild animals in South Africa than domestic animals

4) many animals will continue to live when people are [riends with them
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Passage 2
A materinl I8 what something Is mnde of, ‘There nree 5 hasle nterlnls, Mot things nre mnde with

these materinls. Some things are made of metnl, Some (hings nre mnde of glass, Some (hings are
made of wood. Some things nre made of cloth, And some things nre mnde of plastie. There are some
other materinls. But they nre not used ny much ny lluﬁ?f'% M« rinly,

Let's talk nbout metnl first. Metal Iy very henvy. A@I' v very hard and strong. 1€ usually feels

cool if you touch it. We use metnl to make loty of things, We use W for forks and knlves, We use It

for keys. We use it for enrs. We use It for these things beenuse It bs very strong,
Next, let’s tnlk about glnss. Glass Is very smooth. It feels cool to touch. 1t In not as heavy as metal.
1t is hard. But it is not strong. It brenks very ensily! Then why do we use 11?2 We nse it heeanse i s
clear! You can see through glass! That's why we use It for windows, ‘That's nlso why we use It for
glasses.
Now, let’s talk about wood. Wood is lghter than metal and glass. It Is not ay strong as metal. But
it is much stronger than glass, We use wood to make lots of things. Things made from wood are
usually light and hard and strong. Chairs and tables are made from wood. Pencils are made from
wood.
Now, let’s talk nbout cloth. Cloth Is very light. It Is much lighter than wood, And It Iy very soft.
We use cloth to make lots of things. For example, it Is used to make clothing. And It is used to make
blankets.
Last, let’s talk about plastic. Plastic is nlso very light, But it is different from cloth. Sometimes it
is soft. And sometimes it is hard. Plastic can be used to make thin plastic hags. These are light, soft,
and strong. But plastic can also be used to malke bicyele helmets. These are light, hard, and strong.
A helmet and a bag seem different. But they are both made from plastic.
76- Which sentence from the passage best describes the main iden?

1) We use cloth to make lots of things. 2) Metal is very heavy,

3) There are 5 basic materials. 4) A helmet and a bag seem different.
77- According to the passage, which of these things is n materinl?

1) Chairs 2) Clothing 3) Windows 4) Wood
78-In paragraph 4, the passage says, “Wood is lighter than metal and glass.” What is the main purpose

of this sentence?

1) To explain something 2) To recommend something

3) To compare something 4) To demonstrate something
79- In this passage, the author {alls about ... .

1) hard things first, then sofl things 2) heavy things first, then light things

3) strong things first, then weak (hings 4) cool things first, then warm things
80- The underlined word “helmet” in the Inst line refers to ... .

1) a proteclive hal 2) a saddle 3) a bruke cable 4) a chain wheel
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